W..DR/DT
W, WF, WA, WAF..DR/DT

11 W.DR/DT
11.1 W, WF, WA, WAF..DR/DT

W..DR/DT..

04458AXX

ApxaHrenbck (8182) 63-90-72 Actana +7(7172) 727-132 Benropog, (4722)40-23-64 BpsHck (4832) 59-03-52 BnapmeocTok (423)249-28-31 Bonrorpag, (844)278-03-48 Bonorza (8172)26-41-59
BopoHex (473) 204-51-73 ExatepuHbypr (343) 384-55-89 NeaHoBo (4932) 77-34-06 Wxerck (3412) 26-03-58 KazaHb (843) 206-01-48 KanuHurrpap, (4012) 72-03-81 Kanyra (4842) 92-23-67
KemepoBo (3842) 65-04-62 Kupos (8332) 68-02-04 KpacHonap (861) 203-40-90 KpacHosipck (391) 204-63-61 Kypck (4712) 77-13-04 Nnneuk (4742) 52-20-81 MarHutoropek (3519) 55-03-13
Mocksa (495) 268-04-70 MypmaHck (8152) 59-64-93 HabepexHsie Hennbi (8552) 20-53-41 HuxHuia Hosropog, (831) 429-08-12 HosokyaHetk (3843) 20-46-81 Hosocubupck (383) 227-86-73
Open (4862) 44-53-42 OpeHbypr (3532) 37-68-04 MeH3aa (8412) 22-31-16 MNepmb (342) 205-81-47 PocTos-Ha-LloHy (863) 308-18-15 PsizaHb (4912) 46-61-64 Camapa (846) 206-03-16 CaHkT-
NeTep6ypr (812) 309-46-40 Capatos (845) 249-38-78 CmoneHck (4812) 29-41-54 Coun (862) 225-72-31 Craspononb (8652) 20-65-13 Teepb (4822)63-31-35 Tomck (3822) 98-41-53 Tyna
(4872) 74-02-29 TiomeHb (3452) 66-21-18 YnbsiHoBck (8422) 24-23-59 Yda (347) 229-48-12 HensibuHck (351) 202-03-61 Yepenoset (8202) 49-02-64 Apocnasns (4852) 69-52-933

EAvHbIN pec N9 BCex PerioHos: swe@nt-rt.ru | | www.sew-eurodrive.nt-rt.ru


mailto:swe@nt-rt.ru
http://www.sew-eurodrive.nt-rt.ru

11.2 W.. - DR/DT

W10, Ne = 1400 1/min 25 Nm

N, Mamax  Fra 9 R) i DTS6
[¥/min] [Nm]  [N] [']

19 25 1800 - 75.00*

23 25 1800 - | 60.00*

29 25 1800 - | 48.00*

36 25 1800 - 39.00*

43 25 1800 - | 32.50*

51 24 1800 - | 27.50*

57 25 1800 - | 24.50*

72 25 1800 - 19.50*

85 20 1800 - | 16.50*

98 22 1800 - 1433

137 13 1800 - 10.25*

171 12 1800 - 820

213 12 1720 - 657
W20, Ne = 1400 1/min 40 Nm

P Mamax FrRa @ (R) i DR63
[1/min] [Nm] [N] ['1 DT71

19 40 2200 - 75.00*

23 40 2200 - | 60.00*

29 40 2200 - 48.00*

36 40 2200 - | 39.00*

43 40 2200 - | 32.50*

51 40 2200 - | 27.50*

57 40 2200 - | 24.50*

72 35 2200 - 19.50*

85 30 2200 - 16.50*

98 30 2110 - 1433

137 25 1920 - 10.25*

171 20 1830 - 8.20*

213 20 1720 - 657
W30, ng = 1400 1/min 70 Nm

n, Mamax FRa (0] (IR) i DR63 DT80
[1/min] [Nm] Nl | ['] DT71

19 70 3000 - 75.00*

23 70 3000 - | 60.00*

29 70 3000 - | 48.00*

36 70 3000 - 39.00*

43 70 3000 - | 32.50*

51 70 3000 - | 27.50*

57 70 3000 - | 24.50*

72 70 3000 - 19.50*

86 60 3000 - 16.33

98 60 3000 - 1433

137 50 2950 - 10.25*

171 40 2810 - 8.20*

213 40 2590 - 657




W..DR/DT

W..D.. [KW]
11.3 W.D.. [kW]
P N, M, i Fra!  SEWfg . |§]
[KW]  [1/min] [Nm] [N] ==
0.09 17 20 75.00% 1800 1.25
22 18 60.00* 1800 1.45
27 16 48.00* 1800 1.55
33 15 39.00* 1800 1.70
40 13 32.50° 1800 190 10 DT 56M4
47 12 27.50 1800 2.1
i WE 10 DT  56M4
53 1 24.50 1800 23
X WA 10 DT 56M4
67 9.4 19.50 1800 27 WAE 10 DT oeva
79 8.4 16.50* 1800 24
91 76 14.33 1800 2.9
127 58 10.25* 1800 22
159 48 8.20* 1800 25
198 40 6.57 1800 3.0
0.12 12 40 75.00% 3000 175 W 30 DR 63M6
15 38 60.00* 3000 185 WF 30 DR 63M6
28 25 32.50* 3000 28 WA 30 DR 63M6
33 24 27.50* 3000 30  WAF 30 DR 63M6
18 28 75.00° 3000 25\ 30 DR 6354
23 26 60.00 3000 27
i WE 30 DR 63S4
29 23 48.00 3000 31
i WA 30 DR 6384
35 21 39.00 3000 34 M S0 PR oase
42 17 32.50* 3000 41
12 36 75.00* 2200 110 W 20 DR 63M6
15 32 60.00* 2200 125 WF 20 DR 63M6
28 27 32.50* 2200 150 WA 20 DR 63M6
33 22 27.50* 2200 180 WAF 20 DR 63M6
18 25 75.00* 2200 1.60
23 22 60.00* 2200 1.80
29 20 48.00* 2200 1.95
35 19 39.00* 2200 22
42 18 32.50° 2200 22 20 DR 6354
50 15 27.50 2200 26
X WF 20 DR 63S4
56 14 24.50 2200 29
X WA 20 DR 6384
71 12 19.50 2200 29 A2 PR oase
84 10 16.50* 2200 29
96 9.5 14.33 2200 32
135 72 10.25* 2140 35
168 59 8.20* 1990 34
210 49 6.57 1890 4.1
17 27 75.00* 1800 0.95
22 23 60.00* 1800 1.05
27 21 48.00* 1800 1.15
33 20 39.00* 1800 1.30
40 18 32.50° 1800 140 10 DT s6L4
47 16 27.50 1800 1.55
X WE 10 DT 56L4
53 15 24.50 1800 1.70
i WA 10 DT 56L4
67 13 19.50 1800 20 10 oT sera
79 1 16.50* 1800 1.80
91 10 14.33 1800 22
127 77 10.25* 1800 1.70
159 63 8.20* 1800 1.90
198 53 6.57 1800 23
0.18 12 62 75.00% 3000 115 W 30 DR 63L6
15 58 60.00* 3000 120  WF 30 DR 63L6
27 39 32.50* 3000 180 WA 30 DR 63L6
32 37 27.50* 3000 190 WAF 30 DR 63L6

I NI Iy 3 N

DOHD ©OPOO OO

W w oo

497
498
499
498

503
504
505
504

503
504
505
504

500
501
502
501

500
501
502
501

497
498
499
498

503
504
505
504



Pm
[kW]

0.18

0.25

Na
[1/min]

24.50*
19.50*
16.33
14.33
10.25*
8.20*

WF

WAF

30
30
30
30

63M4
63M4
63M4
63M4

63S2
6382
63S2
6382

63L6
63L6
63L6
63L6

63M4
63M4
63M4
63M4

63852
6352
6352
6352

71D6
71D6
71D6
71D6

63L4
63L4
63L4
63L4

63M2
63M2
63M2
63M2

503
504
505
504

503
504
505
504

500
501
502
501

500
501
502
501

500
501
502
501

503
504
505
504

503
504
505
504

503
504
505
504




W..DR/DT
W..D.. [kW]

Pm
[kW]

0.25

0.37

Na
[1/min]

27.50*
24.50*
19.50*
14.33
10.25*
8.20"
6.57

60.00*
48.00*
39.00*
32.50"
27.50*
24.50"
19.50*
16.50*
14.33
10.25*

8.20*

6.57

32.50*
27.50*
24.50"
19.50*
16.50*
14.33
10.25*

8.20*

75.00"
60.00*
48.00*
39.00¢
32.50"
27.50*
24.50*
19.50*
16.33
14.33
10.25¢
8.20*
6.57

24.50"
19.50*
16.33
14.33
10.25*
8.20*
27.50*
24.50*
19.50*
16.50*
14.33
10.25*
8.20*
6.57

24.50*
19.50*
16.50*
14.33
10.25*
8.20"

SEW fg

0.85

WF

WAF

WF

WAF

WF

WAF

]

20
20
20
20

20
20
20
20

20
20
20
20

30
30
30
30

71D6
71D6
71D6
71D6

63L4
63L4
63L4
63L4

63M2
63M2
63M2
63M2

71D4
71D4
71D4
71D4

63L2
63L2
63L2
63L2

71D4
71D4
71D4
71D4

63L2
63L2
63L2
63L2

500
501
502
501

503
504
505
504

503
504
505
504

500
501
502
501



Pm
[kW]

0.55

0.75

1.1

Na
[1/min]

2410

1830
1750
1700
1660
1530
1450

3000
3000
2940
2780
2690

3000
3000
2810
2730
2500
2350

2830
2780
2600
2550
2370
2240

80K4
80K4
80K4
80K4

71D2
71D2
71D2
71D2

71D2
71D2
71D2
71D2

80N4
80N4
80N4
80N4

80K2
80K2
80K2
80K2

80N2
80N2
80N2
80N2

503
504
505
504

503
504
505
504

500
501
502
501

503
504
505
504

503
504
505
504

503
504
505
504




1.4 W .[mm]

(> [I] 102) DTS..

AC
AD
ADS
L

LS
LB
LBS

W10..

LS

103

LBS
LB
]
S fsEwW —
o 5{ g

17.5
6

27.5

109
87
87

255

291

136

172

45 44
[t

6.6

82.5

ADS

AD

82.5

20 001 01 01

M6

216

18

016

DIN 332
DR M5




[mm]
WF10.. LS 20 004 01 01
L |
45 74 1Bs | ADS
l LB 40 AD
40
%f ‘ | & 5 24 &
. p’%ﬂ N-HsEw - ¢ ‘ E 1
) zzl e HE == | | 4 |
DIN 332
75 78 DR M5
¢80 105
7,40
IES
‘ e
S P I =
\ %2 l ©
WAF10..
o 16 17

2 80

g 25

(- [[] 102) DT56..
AC

109
AD 87
ADS 87
L 255
LS 291
LB 136
LBS 172




WA1 0--

LS
L
4500 74 LBS
LB
<) HE7
Y B L
8o g T LR e -
|
o] © Ma6s
- \
215 | |
I
55
5
01617
42 42
™ 2
= Nl 1=
216" e
———
9
1SO 4017 69
M5x12-8.8

M6

2 6.6

45 94

(- [[] 102) DT56..
AC

AD
ADS
L

LS
LB
LBS

109
87
87

255

291

136

172




20 002 02 01

W20.. LS ADS
AD
101 LBS 90 90
LB
(=]
M B ) g =
TR I Hesw 1S
2ol of Tl 8 1 =
1o ﬁfj( = z ny
T Bl
f 066 066 7.5
I
52.5
60
. 80 _
40
6 32 CET
N
[\
[Te}
&7 — Jﬁ;
DIN 332
DR M6
(—[] 102) DR63.. DT71D
AC 132 145
AD 105 122
ADS 105 127
L 300 315
LS 355 378
LB 149 164
LBS 204 227




40

20 005 02 01

§'¢e

ADS
AD

475

84

11

DIN 332
DR M6

8,40

120

g 20"

——f——

1ISO 4017
M6x16-8.8

o120
0120

LBS
LB

LS

101

50

WF20..

81

50

90
11
84

50

g 18"

——f—

ISO 4017
M6x16-8.8

145
122
127
315
378
164
227

 DT71D

132
105
105
300
355
149
204

o110

(- [[] 102) DRes..

wA F20ll
AC

AD

ADS

LS

LB

LBS



20 008 02 01

WA20/T..

L ‘ ADS
50 55, 101 LBS | 52.5 AD
LB 95 25
\
]
%H_E ‘ = g
TS DY SEW — —— -2 : |
2ol o T @E: J< ) é | = 1
I P’fj( 80' : \ S
Iy o ‘ 1
S 566 066 175
20| | LT |
30| 90 ‘
60
80
o181 o 2017
6 50 50 6 50_,_50
[ee) ; H — 8‘ © ¢ a0 L (Cv; ‘
g 14 S| S Q) ——H <
f g 18" f f a 2017 f
— - —— ————
11 11
1SO 4017 84 1SO 4017 84
M6x16-8.8 M6x16-8.8

(—[] 102) DR63.. DT71D
AC 132

145
AD 105 122
ADS 105 127
L 300 315
LS 355 378
LB 149 164

LBS 204 227




20 003 02 01
W30.. LS ADS

63 112 LBS ‘ 102 102
LB 116

|

4 B | o =
— B
[ < ﬁfj( o : 1 o T
f o e ool  |l]255
30 % LsG—S»
35! 107 ‘
70
100
40

225
\
[
\

L 520 6

DIN 332
DR M6

(—[] 102) DR63.. DT71D  DT80..
AC

132 145 145
AD 105 122 122
ADS 105 127 127
L 324 339 389
LS 379 402 452
LB 149 164 214

LBS 204 227 277




WF30.. LS
L |
63 112 LBS |
LB
|
4‘—%“_57
- = Rg :@EW***‘*S:
X ml —D— E* |
© o\ o, :CT
100

g 20"
e

1SO 4017
M6x16-8.8

2120

ADS
58 | AD
o o

220 4

60.5 605

g 30

Rz

11

106

20 006 02 01
40
32 4

225

BELY

DIN 332
DR M6

34.5
gi«
s
S ©
—_g_2
= I8

(- 102) D
AC

AD
ADS
L

LS
LB
LBS

R63. DT71D  DT80..

132
105
105
324
379
149
204

145
122
127
339
402
164
227

145
122
127
389
452
214
277




WA30.. 4
13
LS T
L ‘ ADS
63.05, 112 BS | 63.5 AD
LB 116 _ 25
\
[{=]
e D T’@EW — -2 é
2 > o - <C [
g 'S_JE %ﬂm oy | “ { —}— - 12
BN \# : . 3 ' ] | {J‘}
bl ] 69 59| 25.5
I
30 ‘ 90
35 107 ‘
70
100
a 20 H7
6 | 60.5 | 60.5
o ht — O $
NN 01— S
020" }
————
11
1SO 4017
M6x16-8.8 106
(—[] 102) DR63.. DT71D  DT80..
AC 132 145 145
AD 105 122 122
ADS 105 127 127
L 324 339 389
LS 379 402 452
LB 149 164 214
LBS 204 227 277




ApxaHrensck (8182) 63-90-72 ActaHa +7(7172) 727-132 Benropop, (4722)40-23-64 BpsiHek (4832) 59-03-52 BnanveocTok (423)249-28-31 Bonrorpap, (844)278-03-48 Bonorpa (8172)26-41-59
BopoHex (473) 204-51-73 Exatepunbypr (343) 384-55-89 MeaHoso (4932) 77-34-06 Wxesck (3412) 26-03-58 KazaHb (843) 206-01-48 KanuHuHrpag, (4012) 72-03-81 Kanyra (4842) 92-23-67
Kemepogo (3842) 65-04-62 Kupos (8332) 68-02-04 KpacHomap (861) 203-40-90 KpacHosipck (391) 204-63-61 Kypek (4712) 77-13-04 Juneuk (4742) 52-20-81 Marnutoropek (3519) 55-03-13
Mocksa (495) 268-04-70 MypmaHck (8152) 59-64-93 HabepexHsle YenHbl (8552) 20-53-41 Huxnuia Horopog, (831) 429-08-12 HosokyaHeLk (3843) 20-46-81 Hosocuburpcek (383) 227-86-73
Open (4862) 44-53-42 OpeHbypr (3532) 37-68-04 MNenaa (8412) 22-31-16 Mepmb (342) 205-81-47 PocTos-Ha-LloHy (863) 308-18-15 PasaHb (4912) 46-61-64 Camapa (846) 206-03-16 CaHkT-
Netep6ypr (812) 309-46-40 Caparos (845) 249-38-78 CmorneHck (4812) 29-41-54 Coun (862) 225-72-31 Ctasponons (8652) 20-65-13 Teeps (4822)63-31-35 Tomck (3822) 98-41-53 Tyna
(4872) 74-02-29 TtomeHb (3452) 66-21-18 YnbsiHoBCK (8422) 24-23-59 Ydba (347) 229-48-12 Yensburck (351) 202-03-61 Yepenosed, (8202) 49-02-64 Apocnasnk (4852) 69-52-933

EvHbIA IPEC 4019 BCEX PErvoHoB: swe@nt-rt.ru | | www.sew-eurodrive.nt-rt.ru



mailto:swe@nt-rt.ru
http://www.sew-eurodrive.nt-rt.ru



